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QUESTION 1

When should a JPA entity implement the Serializable interface? 

A. when JPA entities are used in the EJB Full container 

B. when JPA entities are used outside of the EJB Lite container 

C. always, because JPA entities are required to implement the Serializable interface 

D. when JPA entities are used as parameters or return values by the remote EJB operations 

Correct Answer: D 

Reference: https://stackoverflow.com/questions/2020904/when-and-why-jpa-entities-should-implementserializable-
interface 

 

QUESTION 2

Which execution document is created by supply chain orchestration when a make request is received? 

A. Transfer Order 

B. Work Order 

C. Routing Create 

D. Movement Request 

E. Purchase Order 

Correct Answer: B 

 

QUESTION 3

Identify two statements that are true about the cost-organization relationship. 

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations. 

B. Only Inventory organizations belonging to different Item Master Organizations can be part of a cost organization. 

C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations. 

D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity. 

Correct Answer: CD 

 

QUESTION 4
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Which is a valid description of REST? 

A. REST provides the same architectural properties as SOAP. 

B. REST is a library that is part of JEE called JAX-RS. 

C. REST is the conventional way of interacting with information resources. 

D. REST is a Web Services standard supported by JEE and JAX-RS. 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/tutorial/doc/giepu.html 

 

QUESTION 5

Which three replenishment count types are used for Periodic Automated Replenishment (PAR)? 

A. Order Economic Quantity (EQQ): Generates a replenishment request for the calculated quantities based on inventory
policies to maintain the PAR quantity. 

B. Reorder Point: Generates a replenishment request for the order quantity based on days of cover for the item lead
time. 

C. Order Quantity: Generates a replenishment request for the order quantity entered for the replenishment count. 

D. Order RAR: Generates a replenishment requisition for the RAR-level quantity. 

E. On-hand Quantity: Generates a replenishment requisition for the difference between the on-hand quantity and the
RAR-level. 

Correct Answer: CDE 
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